Review for Test #1

1. Whereis In(3x+1) discontinuous?

2. Find the following limits:
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%t Itcan beshownthat 0 <sinx < xfor0 <x < 1‘2- Use this to prove that lim sinx = 0.
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7 Use the givsn“gl;bh to find the indicated quantities:
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’D. For f (x) = gt an infinite discontinuity occurs at what vatue of x7
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interval (0, 3).
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Use the Intermediate Value Theorem to show that there is a root of the equation %3 4 2x2 — 42 = Qonrthe



H

. . . —3x if .
12 Find the constant(s) ¢ for which the function f (x) = { (x — ) (x +6) :ffc f i is continuous on
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[%. Given f (x} = »Xix+1if —1<x<1 findthe following limits. Justify your answers
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} J+ Given f {x) = [ »24x+41 if—1 <x <1 determine where f is continuous and discontinuous and
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justify your conclusion.

s Si;ét';h .a graph of a function f that is continuous everywhere except at x = —2, where f has
(a) a removable discontinuity.
(b) an infinite discontinuity.

(c) a jump discontinuity. -






